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58.

24.

30.

A dealer bought a television set for a Rs. 10,000 and sold it for Rs. 12,000. Find the
profit/loss made by him for one television set. '

(A) Loss Rs. 2,000 : ) Profit Rs. 2,000
(C) Profit Rs. 10,000 (D) Loss Rs. 10,000

o0 Qurss Qurur gn Gsreass AL Quyeow @m. 10,00066 eunkd @. 12.00056
N dlprr. h QuLigufer @ Tu/BL L SEE HTanTs. -

A  .2000m b B) . 2,000 Gavruibd

(©) . 10.000 @esruiid (D) . 10,000 pLLib

Sara baked cakels for the school festival. The cost of one cake was Rs. 55. She sold 25 cakes
and made a profit of Rs. 11 on each cake. Find the selling price of the cakes

(A) - Rs. 1,400 (B) Rs. 1,375
Rs. 1,650 (D) Rs. 1,550
@@ udaiuder elprelpsrss smym, Gads Qeuigrer. em Cosdar oi_ssalama th. 55 @b, Deuar

peutaurm Casmswb, . 11 orugdpe eApdprer. 25 Cas@amer eAndmbsme, elbLiener
eI STeHT.

A) @ 1,400 (B) . 1,375
©) @ 1,650 D) . 1,550

A bicycle marked at Rs. 1,500 is sold to a 1,350. What is the percentage of discount?
(A)  20% B) 15%
10% g D)y 7%

g WHeuamguien eflaner 1,500 mpumi ereny Gifléstiul Hererg. Glgmen mumi 1350&@ eflpmrd
SeEnLIg. £5655D erenen?

(A)  20% (B) 15%

(C) 10% D) 7%

A bicycle marked as Rs. 1,500 is sold for Rs. 1,350. What is the percentage of discount?

Aa) 9% W 10%

©) 12% D) 15%

W) Lﬂﬁmm'wu}.uﬂsh eflenev p. 1,500 ererm @gﬂuﬁl_bur'_@shmg]. Boener an 1,350 &e oflihmed
SET(EhLIG. F56IFLD GTewmen?

(A 9% B) 10%
(C) 12% D) 15%

.
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72.

" 3.

The list price of a frock is Rs. 220. A discount of 20% on sales is announced. What is
the amount of discount on it and its selling price?
(A) 22,86 : (B) 33,98
(C) 55,183 M 44,176
@M 2eLular ulgud el 220 apuml. sger elpuamernier 20% serEpuly 66T
sifellsaslinlRererg). 2 e ufer God seTEnhuly eTeucueTe? g6 allhLienar edlane eTeres?
(A). - 22,86 . (B) 33,98
(C) 55,183 7 D) 44,176
By selling a car for Rs. 2,00,000, a man suffered a loss of 20% the cost price of the carv §
(A) 2,20,000 (B) 2,40,000
v 250,000 (D) 3,00,000
1. 2,00,0005,@ 20 sy ddumar Calusdd @mer 20 &ajaﬁ’é]g, BaGLDENL_BSTT. Sjeui s
euradlu eflenewimang
(A 2,20,000 (B)  2,40,000
(€ 250,000 v (D)  3,00,000
A man bought an old bicycle for %1,250. He spent ?250 on' its repairs. He then sold it for

¥1,400. Find his loss percentage .
6.67% o o (B) 6.60%
{C) 6.68% » ' D) 6.65% -

(T BUT 61 LIGHLPUS L[S]é]@JG&GTLq;GDU_I 71, 505@' aumi et 2gmars ETLRES T250 Qeway Gletu_x;_r,rrrr :
<DjeuUmT é{g,mnem 21, 4005;@ aﬁ]rpg)rrrr sjeuflem BLL_ &gaﬁgyg,mg,&; HTERTS. :

A 6.67% - . : S B 6.60%

(C) 6.68% - : D) 6.65%:
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58. A man bought an old bicycle for Rs. 1,250. He spent Rs. 250 on its repairs. He then sold it
for Rs. 1,400. Find his gain or Loss percentage

W Loss 6.67% (B) Gain 6.67 %
(C) Loss20% (D) Loss 6%
@m puir @m umpw WE euamgemw, . 1,2505@ aurtidamt. sigmear FILBSS m. 250 Qsoey

Qewignit. e gwer m. 1,4006@ eAppri. Seu@mB®LW @TUD OO BLLSDHS STaRT.

(sgeipsdle)
(A) 6.67%mpLLD (B) 6.67 % erub
©) 20%pLimd (D) 6%plLd

" l»__ 126. A man- bought a car. for Rs 2 00,000 and spent Rs 50 000 on 1ts repau' He sold it for».
‘ Rs. 3,00, 000. What is the proﬁt percentage" -

Wff’zo% o e 0%

© s e @k T

ameui @ 2 00 0005@ @(r_r, it surrrmél agmm u@g urrrruuggnsms @-. 50, 000 Gso)sq qu.lgrrrr .54;55 .

‘&Teniy alelm @ 3 00 0005@ eﬁl,rgumw qu.:grm: Seuit gqsm_.r_r,g @mrru &gsﬁgm -crsmsm? TR

_:(A)" 20%'1 o -(B)- 10% -

(C)‘.‘_'SO%j' A -(D)-:,'.ZS_%['
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199. A man bought an old bicycle for Rs. 1,500. He spends Rs. 500 on its repair and sells it for
“Rs. 1,800. Find the percentage of his loss.

T 10%
® 15%
©  20%
D 5%

gmeu m. 1,500-6@ @@ uapw Whadmgmw e afe m. 500-&@ uwgsmar BiGADTT.
el i ops Ofusmgou . 1,800-85 Ap&prr erefldd SieUT MWD Beig

sselflgsmss sneaw.
A 10%

B) 15%

(C) * 20%

D) 5%

76. A refrigerator is purchased for Rs. 14,355, including sales tax. If the actual cost price of the
refrigerator is Rs. 13,050, find the rate of sales tax. :

@ 1% B) 8%

© 9% _ A G 10%

em Gaflietsars Quigew, elhumer ewfCur® Ceisg . 14,355-&@ ApsliL®Sng. igen
-2 a@menwirer eurmdw ellena ¢5. 13,050 erafley el huienen cufl ss6issmss srams. '

@ 1% (B) 8% |

© 9% D) 10%

99. Ram sold a watch at ¥ 405 and earned a proﬁt of 20%. What was his cost price?

& 33750 (B) T 87.50
(C) - ¥ 237.50 (D) - % 237

prLb ereLieut 20% omusAnE . 405-5@ @@ sy aTTEms DTS D6 L& eflene eTanan? -
(A)  €337.50 - (B) ¥87.50
(C) ¥237.50 ' D) T 237
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57.  Sasi purchased a house for T 27,75,000 and spen-f ¥ 225,000 on its interior decoration. He
sold the house to make a profit of 40%. What is the selling price of the house?

@ Tano00 ® T 36,00,000
: w)" - ¥ 42,00,000 _ @) ¥ 48,00,000

Py @@ i e T 27,75,000 5@ a.lrrrué]enrrrr Gey e Lipissenar I 2,25, OUG & e{@@u@gﬁl
21 40% BerusHns eﬂ?m;orrrr craflen 3455 ofit1g 6 el Lianar cSieney aremen? - o

(& ¥ 31,20,000 ' . (B) T 3600,000
© T 42,00,000 (D) T48,00,000

136. A man had Rs. 75 lakhs with him. He spent 48 lakhs and 85 thousands to buy a building.

How much money is left wij:h him?
(&) 40 lakhs
b@f 26 lakhs 15 thouéand
(C) 20 lakhs 25 thousand
(D) 33 lakhs
@ BUk ,seiiTaﬂLLb .75 @olsd mapgaant. ol @ SinlLges amhigaghETs
.48 @mi_er;s,ﬂ 85 ufgib Aewe; Geiign srefléd StaufiLth erclquanay LD B Eapé@in?
A 40 @wﬁ&ﬁ:
B) 26 Qolssd 15 uinb
(C) 20 QolssdH 25 guimb

D) 33 Gorsd
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113. Raman buys a washing machine for Rs. 13,500 and sells it at a loss of 12%. What is the

selling price of the washing machine?

\/n/l 1,880 (B) 11,800

(C) 13,500 @) 11,870

@rmwen geafl GeausEn Qupdrsms . 13,500 6@ ammgdapri. @smer 12% pLLsdbE’
Ao erefler giewll semeus@b Gubdrsder edpuamen ellene eramen?

(A) 11,880 . (B) 11,800

(€) 13,500 (D) 11,870

57. A fruit seller bought 12 boxes of grapes at Rs. 160 each. Two boxes were damaged.
He sold the remaining boxes at Rs. 200 each then profit per cent is

@A) 4.258 . (B) 433
I e D) 4.52

@ uy efdwrurf 12 Quig Sy assemen g QuLiy 5. 160 ereamm eSgw eummdlei. e
@rem® Quigser WdHRSpg. WBseperer QuUigsemer @ QuigsE . 200 aSsb
dewas@ alndprt erafled Gemu §5655D

(A) 4.258 ; - (B) 4.33

(C) 4.167 (D) 4.52
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61. A fruit seller bought 8 boxes of grapes at Rs.150 each. One box was damaged. He sold the
remaining boxes at Rs.190 each. Find the profit / loss percentage.

(A) Profit 130 %

y Profit 10.83 %

(C) Loss 130 %
(D) Loss 10.83 %
e Ly edwrurf 8 Quiy, drriemssmer, gm Quily m.150 dpn rkdlem. Ho G Quig

Aymims s ARdpg. Baaparer Qugsmer G Quiiy 190 eramy clerade S,

@eomu [ B 565D ST,
(A)  eruwb 130 %

(B) enmuw 10.83 %

(C) s 130%

(D) sl 10.83 %

154. A fruit seller bought 10 boxes of grapes at . 210 each. One box was damaged. He sold the
remaining boxes at T. 250 each. Find the profit / loss percentage
(A) 7.14% loss ) (B) = 10.14% loss
W 7.14% profit | (D) 10.14% profit
(B UL eflwururf 10 Quily HrrlengsanaT e QQL’.[:;. 5. 210 eSs1b eumiiflamit. il gm Guiig
Siriens 2ipd H@REpg. Bseperar Quigsmar @m Quly @m. 250 cam almasg allpApm.
@eru [ BLL sgeigid srar S
(A)  714%pliib L .® 1014% sl
©  7.14% wnub ©) 10.14% womuib
26.

A man buys 10 articles for Rs. 8 and sells them at the rate of Rs. 1.25 per article. His gain is

Q)  20% (B) 50%

© 191w M 561 %
2 4

an walsa 10 ydamad o 8-5@ armdl eupan @m. 1.25 dab 10 yHemsmer eflpmmi.
B{EU(HEDL_IL QITULD

(A  20% (B) 50%
1, 1
© 195% ™) 56%
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92. The price of an item mcluswe of VAT is Rs. 9, 720 If VAT is 8% t.hen the cost price of the

item is : B
W" 9,000 Rs. _ (B) 9,100 Rs.

'9,120 Rs. __— _ (D) . 9,200 Rs.

wHILESRLH aufluL e 9@ G]urr@aﬂm eﬁ]ma} g_r, 9, 720 mﬁul_] gl B aufl 8% srﬂﬂa: DFET &
afleney eremmaeT? .

@) @ 9,000 : ®)  @.9,100 . L
© w®9o120 . - (D) . 9,200
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55, . Mohammed sells a shirt costing Rs. 300 at 20% loas to Salim, Salim sells it at o |
8t . sells it at
. 10%. At'what price did Salim sell the shirt? _ aka proﬁt of

Ra. 264 _ . (B) Ras. 270
; . (C) Rs 280 : . (D} Rs. 330

(g:.asmgj 5. 300 my_Ssallamar Glsmain_ Feneow 20% ;ﬁmq.t_,i;ﬂn"@ Fal Sl aﬂ,_,],r_om e«aﬁm =g 10%
wrru,sﬂm@ efilbmned, #efih eremem eﬂlmms@ &l_cm_mm &l Hmmi?

(A . 264 B 270
©  .280 - D 330

7. A trader buys an article for Rs. 1,200 and marks it 30% above the cost price. He then
sells it after allowing a discount of 20%. Find the selling price and profit percent.

(A)  Rs. 1,560, 6% (B) Rs. 1,428, 4%
& Rs 1248, 4% (D) Rs. 1,650, 6%
e Qwrurfl gm Qurmerar 5. 1,2006@ eurmdlearmi. 96 Sigan Lssellamadg Guwe

30% ewisd, @hss dma sdant. QspE 20% saresuy Qe Do erafd,
alipuenar efleney LHMD GTU FHE5HD HTeRTS.

A) e 1,560,6% - B) . 1,428, 4%
©) . 1,248, 4% A D) em. 1,650, 6%
4. The cost price of 20 articles is the same as selling price of x articles. If the profit is 25% then

the number of articles is
(A) 25 __(B) i8

o 16 Dy 15

20 Quimgm’ safler eummighir effenwand v Aung sar efiip daaugd swd (o wny ssaisn 25%
srafla eflbm G selldn o e o'l S g Tens;

A) 25 ' (By 18 .

© 16 ' OIRE ,
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55.

The cost price of 16 notebooks is equal to the selling price of 12 notebooks. Find the gain

percent
@A) 24% P s31%
©  16% D) 12%

https://t.me/tn pscfree|

16 Crpm_(pL ussshseilar oi_sacdea 12 Crml @ usssnseiar eilpusmen ellamasiEs sob. Gsen

Beru g56isb Gramns
A 24% (B) 331%

© 16% D) 12%

"186. The cost price of 21 pens is equal to the selling price of 20 pens. The loss or gain percent is

148,

_transactlonls . o o )
A 18% o B 162%
: w‘f ‘20% R D) 25%

4) 20%

N ]

© 10%

™ 15%

. 21 GQuennésmafien au...&safﬂmw 20 Guarrrssaﬂar sﬁ]mw dleaig swib aaflés Qe amwgl Bt

spelipb peng)
a) 20%
® 5%

© 10%
O 15%

If the cost of 12 Arucles is equal to the sel.h.ng pnce of 10 Art1c1es, the proﬁt percant in the

l

12 Glurr@arasaﬂm mrrmélu.; eﬁ]mma;@ 10 Qun@m&aﬂm sﬁlmm Gﬁ}mw&@ FOLD cmﬂm @‘mg S
eﬁ]u_lrrurrugsﬁlﬂ) élsm_sgm @mn’um sgaﬁgm

A 18% - L ® "16.3_%
© 2% - . @D 2%
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. 52. “Cost of 3 pencils and 5 erasers is ¥ 34 and cost of 2 pencils and 7 erasers is ¥ 30 then cost of

a pencil is .
T8 B B) 5
© T4 : D T2

3 apaGardsend 5 SufllumaseEsd Geibg v T 3.4 Gugid 2 Gr@gjc’ssrrdm@m
7 @ifiiunens@En G_&ﬁ‘ﬁgj aflenes T 30 erafled g eraIGanelen eflenen areren?
Ay 8 ®B 5

SO T4 ' . D) T2

36. 5 pencils and 4 erasers cost T 13 whereas 9 penclls and 5 erasers cost T 19 then the price of
-6 pencils and 3 erasers is : :

@ s o ;ﬂuz

€  ti5 _ (D) 18

@by warGsmd whpd preag sifiuuralan eiima ¥ 13 2G5 Curd genug aGsnd WD D .
BoHF sfiumealer dlene T 19 arafled g aenrGsmd whgb epdny sifuuralian e aenea?

@ 9 ® T2 “

© =15 - ®) T18

147. Three shjrts and four pé.n_ts cost Rs. 3,680. Two pants and one shirt cost Rs. 1,680. Find the

costs of & shirt and a pant?
\# Rs.320andRe.680  (B) Re.300and Re.600
(C)  Rs. 400 and Rs. 450 ©* (D) Re.310andRs.690

apetD S MLEET LOHMILD FreE STed &c_mt_.&aﬂaz dflea . 3,680 @LD. Prem® sred FLapLSET LOHMID
R m_mu.‘ﬂm eﬁlmeo 5. 1,680 . @@ ) mg)gum S ST s e eﬁ]ma)m'r wienau?

@ o 320 Logom(m 5.680 . (B) @5. 300 wppud g5. 600

(€) . 400 wpmd 5. 450 - D) . 310 wHmD 5. 690
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A man sells two wri§t watches at ¥ 594 each. On one he gains 10% and on the other he loses
10%. Find his gain or loss percent. On the whole _

A) 12% loss (B{l% loss

©) 1% profit (D) 12% profit

-

@\(h MESSHIGEMHISGET peulleurarannHu|h 594 EUMLES @meui ofdomi. @eveury eddmHed gerdled
10% eomuapd, wpmdléd 10% BLL b, DeuHEE UL gl Qursssde eumss Gj"fj)UL'_I_’GDVITULb
SOV BLL F5I5HMSSE SHTERTELD. '

A  12%mBlLbd B) 1%plrbd
C) 1% emub ' . (D) 12% eoruibd

A man sells two wrist watches at Rs. 594 each. On one he gains 10% and on the other he

loses 10%. Find his gain or loss percent on the whole
(A) Loss % =90%
B) Gain%=5%

\/Loss%=1%

D) lLoss%=7%

O @essL MG @aularaanyd m 594-§§ emeur ofporr. @eeury aAHmded
10% Qeruapn wppde 10% HLL b SeumsE FpulL gl ATsss86 DeuMmHEE ahul L Gerub

DG BLL FEFEIHLD SIS
(A)  mlLssaisd = 90%
B) @erub sgeisn = 5%
(C) plLsseisn=1%

D) plLsseisd = T%
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54.

53.

60,

Even after giving a discount of 20% the shop owner gets a profit of 10%. If the marked price
‘is Rs. 2,200 then the cost price is

MRS. 1600 (B) Rs. 1760

(C)  Rs. 1800 (D) Rs. 2080

20% semenLysE Wenanmb alwrunflse 10% omub HoLsdpg. Giigs o @m. 2,200 aafld

255 alflenen eretten?
(A)  em. 1600 (B) em. 1760
(C) . 1800 (D) em. 2080

The market price of new brand watch is 15% higher than its original price. Due to increase

in demand, the price is further increased by 10%. How much profit will be obtained in
selling the watch? (in %)

(A) 25% (B) 35%
26.5% (D) 27%

e®m ydw syamsdar elpuemen ellene igen 2 @ e el 15% a@mb, Cuaib iger
Casameuanwit Qurpsg Bar@w 10% ifls ellanaCuppd Qewiwliul Lme, iHs sgsTysms elh@Ewn
Cung flen_&@Eb @orgs Tl eréucuarey 5655D? '

@  25% | (B) 35%

©) 26.5% D) 27%

|https://t. me/tnpscfree|

If a discount of 20% is given then selling price of an article is ¥ 24 What would be the
selling price if the discount of 30% is given?

T 21 ® T30 s
©  T36 : O T20

genenuly 20% sruu@n Curg @m Qurmaiiar elmm e T 24, 21Cg AummEnsE 30% Hemenuly
sruulmudler eApLenar elena eTenareurs @) (HHSIHEED? ;
@a T21 . B) T30

© 36 ; M T20
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147. A dealer allows a discount of 20% and still gains 10%. What is the cost price of the book

which is marked at Rs. 440?

(A 396 \m 320

© 352 (D) 376

@@ ussesdar dieauia 20% sarepuy. Qsusraud ¢ elwrurflse 10% Qerun St s8ng.

LUSsssS 6 @Hlss cilena ap. 440 erafle) Sisem 268 eSlened wirg?

(A) 396 (B) 320
(C). 352 (D) 376
4, A reduetion of 20% in the price of rice enables a person to buy 3.5 kg more rice for T 770. The

original price of rice per kg is
W 55 (B) <45

G a7 (D) %65

2fflfen eflene siger eaimenio elamwamu &l 20% Gepsstiul Lrd, @meit 770 mumibe smer
s eupgeng efl 3.5 £Gan flfl oiflsb aris qpguyn eamme, g HGun sflfllen o smao

sfleney eramam?
(A)  T55 (B) %45
(C)y a7 (D) %65

61. A man’s wages were decreased by 50% and the reduced wages were increased by 50%. He
has '

(A) no profit and no loss
(B) aloss of 0.25%
(C) alossof2.5%
y a loss of 256%
gmaflar el 50% @apssiu®dng. Gerearm, @@mpsaiul L saedlulle 50% fsfssiiuBdng
arafled jeu(HES, .
A) @eruapb @evene HLLAPLD @ene
B) 0.25% plLid
©€) 25%plibd
(D) 25% pLibd
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- 96. If 20% discount on the marked prlce and then another 5% discount on the new price is glven _
~ then the overall discount is ;
A 2% B) 23.5%

M 24% ' ‘(D) 25%

@5 cdmandemss 20% M@uwm 965, HE aﬂmwuﬂa\?@w Cogib 5% BOT@5LI 1D .
C . Ger@ésiulLmd Glmrrg,g,gg‘,]cu gm@uq_

@ 2% o ®B) 235%

© 24% o (D) 25%

85. A tradesman sold an article at a loss of 20%. If the selling pri¢e-had been increased by
Rs. 100, these would have been a gain of 5%. What was the cost price of the article?

. (&) Rs. 100 , (B), Rs. 200
W Rs. 400 - . ©) Bs.500
e -memﬂéﬁ en Qurgeer 20% plLgdio eSpori. amu;g sﬂlmum;ur eﬁlmc;s 100 @u;ruh
2 PsfsHmbsre. 5% amub AupHmée. Aurnelar oilssalian erearar?
A) . 100 B T ® @ 200
© 400 - ® @ 500

https://t.me/tnpscfree

The marked price of an article is 20% more than its cost price. A discount of 10% is given.
After discount the price is Rs. 518.40. What is the cost price?

@ 150 ®) 576

€y 596 _ "~ (D) 598

41,

@O Ounmaier e ssaloamy b @,rﬂgg dimer 20% fad. 10% gengnuy 50’uu®.ﬂmg\|
Fem@nLIRbE Gler Gunpaflan afleve o5.518.40. Qunpafien au_sa;sﬁlma) cragen?

@) 480 | ® 576
(C) 596 (D) 598
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158. An article is marked 50% above the cost price upon the productlon pnoe and a discount of
+ 40% is allowed. Then the gam or losa percentage is

W 10%lss B) 12% loss
©) 9% loss o (D) 8% gain

em Gurr@ar S\ e mmug@ dilealdimba 50% a@smn’s efipLienen eﬁlma)u..lrrs @;ﬂs&uu@ﬁmg
Guogyith a,ﬂco 40% gan@pLIg Syflclgsmd eqm@a;@ AL g erub/pl LD sge!gm

(A) 10% o B) 12%pliib

©C) 9% ;b.l'_l_l.b : (D) 8% emud

165. A man Buys 3 tables and 12 chairs for Rs. 2,400. He sells the fables at a profit 20% and
chairs at a profit of 10% and makes a total profit of Rs.300. At what pmse did he buy one

table? .
@ w00 B T2 ;
(C) %300 ST L (D T250 S -

fmeud 3 Cuamgsdr Lppb 12 prpsnd Gnrsmssds sduaupap @2400 S@j QUGS mires.

Cueagamer 20% amusdb@hd prpsrd Gramssmer 10% arusda eflhgth Gungl #5.300 eomLions
. Qupfiprer erafléd @b Cuemgenw ehs el aurkidudmiiLmen? :

(&) 100 : : B) T 200 _

(C) T 300 : . - : (D) %250 .

=1
o

An increase of 20% in the price of mangoes enables a person to purchase 4 mangoes less for
40. The priee of 15 mangoes before increase was.

A 10 B) %15
€ %20 v 25

L

wmbLwpsHlear ellene 20% <flaflssred emeur 40 HUMLES BTGNS, DIDLILPEISET GODEUTEHSHSHT6
QUTTRIS  (LpIgll|ld  erafley, dloaCuppsdneE erarmd 15 mbLphisaier efllene erenaTeUTs

OBHEmEEH .
(A) T 10 B) T15
C) %20 (D) %25

|https://t.me/tnpscfree|
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43. h A shop owner giveé one fifth of his profit to his Manager. The Manager 'gwes one third of the
money he received to his assistant. Half of the amount received by the assistant is Rs. 100.
What.is the Shop owner’s profit? .

“(A) 2,000 Rs. , ‘ \@f d 3,000 Rs.
(C) 4,000 Rs. (D) 6,000 Rs.

R FDLESTTT SHF OMLSED gﬁﬁm R Ukiams sar Goonen e Carhsdmnmr. Goerari BAES

feLgsder apendled R LBIaNS e &geﬁlu_lrrm@a;@ g,@a%],lpm o gaflwmemt Quphm Qgrrem;uﬂeu urgl
(5. 100. sen_saryflen eomuih ereimen?

~(A) 7 2,000 e. - ~ . (B) 3,000 ¢
(C) 4,000 A (D) 6,000 e,

93. A Trader has 500 kg of rice, part of which he sells at 8% proﬁt and the rest at 18% proﬁt He .
gains 10% on the whole. The quantity sold at 18% profit is :

NN 100 kg . | (B) - 200 kg
(©) 300kg- ' D) 400kg

@(m auefisi 5c;b'réuﬂl__@pe'rréT en ued <ffowu 8 ssddls @rusdbeb Befleows 18 556085
' surrug,ﬁlg)@m epuener Galigder Qungsuperer 500 HCGar oMfsE 10 gs608s wmub Quppmr.
e 18 spaldls orusSpe efpp <N fullen sierairens?
~(A) 100 AGar _ (B) 200 £Cwn .

(C) 300 £Geon ' (D) 400 &G

| 32 A vendor offers a discount of 10% on a watch and still makes a profit of 26%. What is the
actual cost price if the marked pru:e is Rs. 8407

™ 600 _ - B 700 -

(C) 800 D) 6560

R eﬁlg)ua}mu_lrrsrrrr aass TS B 10% ger@sLy 565 ﬁ]m@w 26% @wrub e DT, SiHen
Ghes e . 840 araflér ipen eunbidlws ellened erear?

(A) 600 _ (B) 700
- (C) 800 ' (D) 650
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184. A shopkeeper mlﬁies 20 kgs of rice which cost Rs. 5 per kg with 35 kg of vice which cost
‘ Rs. 7 per kg. Then he seﬂs the mlxtuie at Bs. 6.50 per kg. Fmd his profit pelcentage

(A) 3%
40
B) 3—%
(B) 67"
' 34
) 42ty
© 6

\}@f" 3284,
69

@@ SEL_ESTTT g;m'rreﬁﬁLLb @@p’;g, o 5 LGS Gﬁmmumm 208 effemwuyb, @ 7 SI_&&
eflenevwyerar 35 HGeorr =9|rﬂ§1mu_|u_[|.o GENDITE a;@a@g,l HGeor . 6.505 @S]r_f)g)rr«ao Dieu(nbE, a‘i]fm_asgm '

EeorugSler 5g)aﬁg,|_a Grsmsm?
@ 3%
40,
B) 32-%
® e
34
C)  422%
©@ 4
43

@D 3=9%
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) 4 th o 1
179. Kumar's mohthly salary is Rs. 54,000. He spends % ‘ of his sala;y as rent, 3 as

th .
education, % as transport

and the remaining as his savings. The amount saved by him as
(A Rs. 12,000
(B) Rs. 12,500

Rs. 13,000

. ©
@ Rs. 13500
@wnit admcufign wrg swustd @. 54,000. Sfé ?lj_- LFSD UL e0EEGLD, 3 Lred s@ell&GL,

1 UNELD Gurré@su nﬁﬁﬁ)@tb Qméq QsLdpri. SHew Calsg masfprt aallé Criseb Agras
4

(A) . 12,000
®). 5. 12,500
© 13,000
O - ® 13,500

126. The cost of pen is € 10 and the cost of pencil is ¥ 3.50. Find the ratio of the cost of pencil
and pen. '

(A) 6:20
B 20:7
Wf 7:20

o 6:7

o® Guemellen eflana T 10 whHmD G Quérdidien sflaw T 3.50 arefld> Quanficiicn cllenaE@tnd |

Guenreflen efllaaE@h o eter cldlssms srans.

(A) 6:20
By 20:7
© 7:20

D 6:7
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170. If personal income is Rs. 57,000, consumption is Rs. 43,000, personal income taxes are

Rs. 9,000, personal interest payments are Rs. 1,000 and personal savings is Rs. 4,000,
disposable income equals

(A)  Rs. 53,000

Rs. 48,000

(C) Rs. 47,000

(D)  Ras. 43,000

g@auflar sallput aimwrend @, 57,000, seufies psiay . 43,000, sefipui cugorar aif 5. 9,000,
geflue ey uesmd @ 1,000 wopd safipur Calbliy @. 4,000 aafid, el Gaaafioy
QU(HLOTGILOT S '

(A) . 53,000

(B)  em. 48,000
(C) . 47,000
D) m. 43,000

129,  The cost of four T@ﬂ books and 3 English Dictionary books is € 750. The cost of a English
- Dictionary is 2 times of the cost of a Tamil book. What is the total cost of a Tamil book and a

Englich Dictionary
(A) T 200
\Br" €225

S (© 250
® T2 -
‘u_srrsirr@'; B Lpsstisd wHpb 3 ude wprdulien (Eng].ish Dictionary) Qungs eflevas T 750.
a0 e ssprduden claounag G Sl ussssSean dlamamu Gurd G WG arafld G
10 LHgD GG ke sisyTHSe Qorss e aear?

(A 7200
‘®) 225
© < 2_5b

D) T275
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132

169.

Two dozen sweets are divided between Rajneeshy and Kumar, so that they get 25% and
75% respectively. Find the number of sweets for Kumar?

B 17

Ay 16
e s © 19

FRpetey, @omr Q@mqﬂb 2 Lgpar LA miigeper 25%, 75% erenpeuny GNE54 Qardardamment. Gt
Qumb AL Lmusefien oranesf Emas SraEms. :

@a 116 | ®) 17

© 18 | | ®) -19

Rao, Kaul, Bansal 'and Agarwal enter into a partnérship, Rao, Kaul, Bansal subscribe %rd,
%t‘h, % th of the iﬁvestment'respectively and Agarwal the rest. If the profit of € 9,84,000 is
divided according to their investment, what is Agarwal’s share of profit?

(A) T 1,64,000

\gaf T 2,138,200

(©€) €3,28,000

‘(D) < 1,96,800

TG, Sayd, LideTd wHmD SisTard Murrr’r a'n.l'_l_rras sflwrurmd Qeiiflénpert. Gongs
APHBL1.6b T16h), Heyed, uensTd gy HCwimir (y)GD[DGUJ = Uk, ulm@ l utig BHew it

SeutaEnn Wwad® Qeldenpent. wrrug@g:rms g 9 84,000 gyeng @go&.@s@g g,@;bgrrm(%urra)
ug® GGUJLULILII_L_JTGJ DIGIQUTE DDIL_BE QLS QFTens eTascuarey?

@ 164000
B) 213,200
©  73,28,000
(D) T 1,96,800
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123, The price of 2 sarees and 4 shirts is Rs. 1,600 with the same money, one can buy -1 sare_é ana

169.

G shiz_cts. If one wants to buy 12 shirts, how much shall he hay’e to pay?

@ 1200
V@’fﬁ 2400
(C) 4800

(D) 3600

2 L|!__6ES)@J. LOMHOHD .4 .H:I'_Gﬁ)l;;é, slemflaaflen G!Lon‘é,g) afleney gmumis 1,600. R)Gs mpumder 1 4 enel Lorj)@;:.‘b .

6 sle  mallenwu ecurhiseomd aafl®, 12 sl fgeisdr LD LS TeeueTa) LIGHD

- GoemailiuFib?
@A) ‘1200 o
® 2400
©) 4800
D) 3660

An employee spends on an average Rs. 2,500 for the first 8 months of a year and Rs. 1,500

for the next 4 months. If he saves Rs. 10,000 that year, then his monthly income is Rs.

A 2,500 . L@ 3,000

(C) 2,600 . (D) 3,200

@ ueflurent aumLsHen 1ped 8 wrshsallsd syrefl m. 2,500-wb «GE5 4 wrgnseafe synefl
. 1,500-10 Qeeey Qelfpri. sl Sips g @. 10,000 Galiggnt cramprd, Haung wrs

el ———————— YGD.
Aa) 2,500 (B) 3,000

© 2,600 D) 3,200
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117,

51.

76.

If a particular amount distributed to each of 14 students is Rs. 80 more than the amount
distributed to each of 18 students, find the amount

AT Rs. 5040
B)

Rs. 3150
(C) Rs. 2520
(D)  Rs. 4200

86 GILAlL Asresou 18 wremaiserses UNss Qsr@luues Curd 065 Gsrasamwu
14 vreraiseés Ufsg QsrBssmd @ wratugss m. 80 sifswrs o sdng aaid sips

QsrenseriL sras

(A) 5040
(B) . 3150
© 2520
D) @ 4200

When an amount was distributed among 14 boys, each of them got ¥ 80 more than the .
amount received by each boy when the same amount is distributed equally among 18 boys:
What was the amount?

(A) 5010 ®B) 5020
~ % 5,040 | | @ 5000

-

) @gﬁ]u&lu_ anm&mm 14 euwensefien Cu LLHHD Qurws. Cs Asresmu 18 CUALD
s’ ukdHb AuUrWws aﬁsm_uumg el @m@mn@m@m T 80 cgu@a;w Gugueﬂmrrn'sen QAgnena
eTeaen?

(A) 5010 . (B) %5020
(© 5040 . M) 5000

The income in 3 months of a person is same as his expendlture in 4 montha If his annual .
saving is T 600. What is his monthly income? '

@ 200 ® 50

€ 2300 D) T600

am wallgher apanm wIE sumLTaD seufler prarg wrg Gmmm@ s erafled al@.I@GDI_uJ su@t.
Gafitiy . 600 % LmbETe Bieufer TF euHLOTEND eTeuaueTey? :

Q) ©.200 | . ® @250
© @300 - ®) @ 600
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35. Three partners A,B,C invest Rs. 36,000, Rs. 45,000 and Rs. 54,000 respectively in a
business. Out of a total profit of Rs. 37,500 C’s share is |
(A) Rs. 12,500 ‘_ 7 Bs. 15,000
(©) Rs.10,000 » (D) Rs.15,500

A B, C 9fu mair uhgsrrisars eerer gm Slurumgfd sauisd wapCu . 36.000,
. 45.000 wHDD @5. 54,000 crapeurp sSH Gsiigkrerant. Qurgs Gomuwb . 37,500-& C -én

i
(A) . 12,500 . ®) @ 15000
© @ 10,000 ‘ ®) . 15500

92, Onsel]mgachau'at T%hssandatableat 17%gam, amangams296 Ifhese]]atKechmr '
at?%gamandtableat 12%gamthenhegamsRs 400. Theactualpnceofthetablem B

A Rs1400 - /@)/1132400

© Rawo @) Ra. 800

prrpstrﬂmu.l 7% mr_gﬁmgm Gl.na)gam 17% @amu,sﬂm@m QHGIE - eﬂgmm} Sjeuen @ 296
Perupa Aprdr. GasCu prpsnd 7% Gerisdh@En Giengg 12% @mnugfﬂg@m aﬁmplrm DU
Guigid Geom b e, 400aaﬂmcmmalﬂarmmmumsﬂm o

@B @140 o B @ 2400
© @400 . ®) . 800 '

199. From Tiruchy bus stand if we buy 3 tickets to Karur and 2 tickets to Pudukkottai, the total
cost is Rs. 85, but if we buy 2 tickets to Karur and one ticket to Pudukkottai, the total cost is
Rs. 50. Find the fares from Tiruchy to Karur and to Pudukkottai.

«f Rs. 15 Rs. 20
(B) Rs. 17, Rs. 23
(C) Rs. 19, Rs. 31
(D) Rs. 30, Rs. 20

Hméd Cumpgs Paoowwusddmbs smmseE opan Lwuarss Ha@mn, ysstar_euses Brar®
vwenFS_aeEnd euriis Qungss slLerd . 85, e, smmsE @ran® vwands HsEH0,
UgECam L@ e@m Lwersf o aurmis Aurssés L amd m S0. Hmped G mba smiT wHmD
LgiaCar L AFb &L RTLSMETS &S,

A) . 15, @. 20

B m 17, m. 23

© 19 m. 31

D) . 39, a. 20
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32.

18.

A man earns Rs. 20 on the first day and spends Rs. 15 on the next day. He again earns
Rs. 20 on the 3 day and spends Rs. 15 on the fourth day. If he continues to save like this,
how soon will he have Rs. 60 in hand?

On 17t day (B) On 22 day

(C) Ona30thday - . - (D) On 40% day

o wellgen apgd Brefler @m. 20 aburdis wiBss preT gp. 15 Qm%u QaL . B&BHL pperpmb
prar @. 20 sbundgg prenard prar @ 15 Qrasi@hpnt. GaamGy seut Cadlious Agreidprd
crafla, . 60 ercucuarey ekl Siaurg ensulle) GlmeEIb?

) A) 17 yeug prefie . By 22 Qg Bafich

©) 30 yeug preficr _ (D) 40 spoug prefie

400 square metres have to be painted. 1 litre of paint A costs 150 Rs and can be used to
paint 4 sq.m. 1 litre of paint B costs Rs. 200 and can paint 6 sq.m. Paint C costs Rs.'250 per
litre and each litre paint C can be used to paint 8 sq.m. least cost of painting 400 sq.m. is

(A) Rs. 10,000 Rs. 12,500
©) Rs..' 15,000 ‘ . (D) Rs. 16,250

400 sgyy BU L wrluerey euiamd & Ceuarriqujarerg. A euens Guufar aﬂLL@é;@ 150 epumis;
1 dfCe st Ganan(® 4 sgiy SULit ysemb. B awens el i 200 gpumil; DL (& 6 &gy B it ysemb.
Caws dliii 250 guri; Sl msg 8 sgip BLLi yserb. 105 Gophps Seveuia 400 sgip
WBLL a0y GuiteRTid L& @D Gaaey ' ‘ ‘

(A)  .10,000 (B m.12,500

© 15000 (D) em. 16,250

|https://t.me/tnpscfree|
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